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M.C.A. Examination 2018-19

(Even Semester)

THEORY OF COMPUTATION

Time : Three Hours] IMaximum Marks : 60

Note. : Attempt all sections
Section-A
. Attempt all parts of the following Ex 1=8
(a) Define finite automata.
(b)  Define alphabets, string, power of an alphabet
and concatenation of strings.
(¢c) Write the notations of DFA .
(d) List the operatiors of Regular Expressions.
() Whatare the closure properties of context free-
languages?
(f) State the pumping lemma for CFL's?
(g) Define turing machine.
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(¢) Discuss decision problem of regular languages.

Attempt any two parts of following

(a) Define the Chomsky Hlierchy of grammer.
What are ambiguous grammer.

(b) Define the following and give appropriate
examples :

(1) Derivation tree
(i1) Context=frec-grammar.

(¢) Discuss undevided problems of CFL.

Attempt any two parts of following.

(a) Design a PDA for checking the acceptance of
string a"'b"c"..

(b) Design a turing machine which accepts the
language which contain equal number of a's and
equal number of b's and also check the
undecidability of that turing machine.

(c) State and prove PDA=CFL.
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